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35.

36.

34. For a particle with mass m in a onc dimensional potential

V(z) = —V,(exp(—2az) - 2exp(~axz)), V, >0

the time period of small oscillations about the equilibrium is

® =\
(B) g\/%
(&) {;”;
® 7

Given that the Lagrangian of a point particle is

1 1 .
L= Ems‘:2 - §w2m2 —az + Bz |

the Hamiltonian is

2
P 2.2 4

(M 2(1%—1—2;6:1:)-H'Jm b :
i 2.2 4 ;

(B ——_2(m+2ﬁ:c)_w$ —ax

@ %(1 +287) + wia? + az’

(D) %a‘:g +w?z? + az? ~ fri?

If the Lagrangian of a point particle is :
1 2 142 4 .2
L=~2-m:r—§w:c—a:c + Bzt ,

the equation of motion will be given by

(N mz+ Bit 4wl +4az¥ =0
(B mi — Bi? — w?z +daz® =0
(&) (m+ 28)E + B3 + wir + dau® = 0
(D) (m+282)% ~ B3 +wlz +4daz? =0



